Schroff

Schroff-

Plug-in units shielded with Cantilever extractor handle, type 2 Print page

- Article number: 20817-873

&

g . Unshielded

Delivery comprises: kit

“ Item Qty Description
1 2 ldentification plate, Al, 1.5 mm, anodised, cut edges plain

Extractor handle, trapeziform, type 2, lever: PPE, light
grey, RAL 7035, knot: Zn die-cast, zinc-plated

3 2  Flathead screw M2.5 x 6, nickel-plated

. ) )

y

Front panel, Al, 2.5 mm front: anodised, rear: irisdescent

a 4 1 green chromated
. 6a |4 Pozidrive collar screw M2.5 x 12.3, St, nickel-plated
~f 6b 4 Pozidrive collar screw M2.5 x 11, St, nickel-plated
7 2 Sleeve, PA, grey
8 2 Washer A 2.7, DIN 125
9 2 Panhead screw with Torx M2.5 x 6, St, nickel-plated

Technical data:

Height Width
6U 12 HP

Further Information:

,’.ﬂ" User Manual

w o &
ﬂ Reference project: Integrated System

http://web.schroff.de/catal ogue/catal ogue.do;jsessionid=8A7B...roductDetai | SPrint& catDetail Productl d=14523& lang=ené& catl d=DE25/04/2008 13:39:39


javascript:window.print()
http://web.schroff.de/media/images/gross/04604053.jpg
http://web.schroff.de/media/images/gross/04604053.jpg

Schroff’

3HE/3U 6HE / 6U Montageanweisung Assembly instruction Instruction de montage
1 (1) Steckbauglj?fppe mit Plug-in unit with élément modulaire avec
119 Aushebegriff in extractor handle gloignée d’extraction
, 2(1%) @ 1220 Trapezform (Typ2) type 2 pe 2
12 (1x M 2.5x6
%Q %Q MZ.(SXG) Q % (
2 (1x) Q f 11 (2%
) i\ 1129

% 10 (2) 3HE / 3U 6HE / 6U

y

10 (2%) M2.5x6

M 2.5x6
7a (2x/4x)

@ 9 (1x) @ M2.5x11

M25x8 7b (2x/4x)

M2.5x12.3
7a(2x/4x)
M 9 M 25x11

7b(2x/4x) 6 (0x/2x)
M 2.5x12.3

6 (1x/3x) 10
] N M
5 (1x)

B | s B
6 12
B Y =
7’ 3(2x)
410 /M BY)
7a
7b
prL wﬁJ;L 9 G,
o 1
Halsschraube / collar screw / vis a gorge:
7a (M2.5x11) 7b (M25x12.3) 7b (M25x12.3) 10

¥

%ol
%11.0' L=12.3 : L=12.3

Zentrierpin
alignment pin
pion de centrage

Schraubensicherung
screw locking
vis autofreiné

10

L=11.0 L=12.3 L=12.3

SCHROFF GmbH www.schroff.biz D/GB/F 07/04
Postfach 3, D-75332 Straubenhardt, Telefon +49(0)70 82 7 94-0, Telefax +49(0)70 82 7 94 200 60817-405




SHEUTIETY

Montageanwelsung Assemnbly Instruction Instu oo

Steckbalgruppe mit Plug-in unit with élément modulaire avec

Aushebegiif In Pment m

Tropeziom (Typ2) extractor handle poignée d”extraction
type 2 type 2

S/ 3 6HE / 8U

10

10 Schraubensicherung
screwlocking
vis autofreiné




W) )| Sl

12



	web.schroff.de
	Schroff


